(4) M= 2&X=2 &
4-1. 5 = G m
e
TF EE=e HES™ HgxH= Nesg gy ST LRSS | =nze St ST
E Al 434,797,740 21,750,740 3,393,800 75,164,230 3,163,270 290,754,520 8,495,400 1,648,000
2 B3 Al 404,369,960 21,750,740 3,393,800 75,164,230 3,163,270 290,754,520 8,495,400 1,648,000
SE3A 30,427,780
JIEtSE3 A 30,427,780
N%-Q—X\-?ZES‘M%* S<€3l 30.427.780
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(4)-2. 8Hg &&

2 Bt Al (ct9l: A
o = AN s E
S L4 A od = = = =
5 EEEES il == A He =2 = 5 = X3 Aol Ot
(=1 =2 s = = == A O ol =] o >4 A S =
& = =13 = 5= =7 NEad sy S & ot oA SHZ& o= 2l Et
8t Al 404,369,960 21,750,740 3,393,800 75,164,230 3,163,270 290,754,520 8,495,400 1,648,000
NIV ] 220,588, 550 3,431,170 3,393,800 6,571,400 340,270 202,521,710 4,330,200
XAl 220,588,550 3,431,170 3,393,800 6,571,400 340,270 202,521,710 4,330,200
SEAM 83,042,770 136,210 481,960 82,424,600
FOUAl 41,200 41,200
TH & Al 379,120 379,120
XS Al 1,154,780 136,210 102,840 915,730
X egASA 81,467,670 81,467,670
NIEIE IR 137,545,780 3,294,960 2,911,840 6,571,400 340,270 120,097,110 4,330,200
AE s o 137,545,780 3,294,960 2,911,840 6,571,400 340,270 120,097,110 4,330,200
Helag 183,781,410 18,319,570 68,592,830 2,823,000 88,232,810 4,165,200 1,648,000
SNESPTE=E] 183,781,410 18,319,570 68,592,830 2,823,000 88,232,810 4,165,200 1,648,000
BHZLBHES 1,648,000 1,648,000
‘EEHE 1,648,000 1,648,000
ol e 182,133,410 18,319,570 68,592,830 2,823,000 88,232,810 4,165,200
‘Xlﬂ@5¢g: 182,133,410 18,319,570 68,592,830 2,823,000 88,232,810 4,165,200






